= A
N = 0 &8 AFH Y & A AN
20158 T = 2 3 st-TAILASEHS I HH
2AM: &2
Ha: otaE ¥ Xote
SRl Sl=2H AX (st AIE S ESIA) (e &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
5t 2=t 16,483,834 15,460,786 1,023,048
[ 1,338 1,338 0
Al 16,482,496 15,459,448 1,023,048
5ta% 2 Xat4=22l 2,566,885 2,062,980 503,905
[=4 1,338 1,338 0
Al 2,565,547 2,061,642 503,905
St AR (LS AIYESSH) 2,401,370 1,898,565 502,805
ANUBIEZH SN % 903,780 603,780 300,000
401 Al HIZ 20 903,780 603,780 300,000
01 Al&HI 900,000 600,000 300,000
OMNUGtEZH =4 2 400,000,000 400,000 300,000 100,000
OAN&EE2 SXIE2H 23 200,000,000 200,000 100,000 100,000
O=HE AXZ HH| 400,000 *250 100,000 0 100,000
ol gl (BH4=1t) 445,071 242,266 202,805
801 OilHIHI 445,071 242,266 202,805
01 LBHofiHl b 445,071 242,266 202,805
Oollbl gl AX 445,071,000 445,071 242,266 202,805
XGRS E™(GtEZAISSEHE H) 117,515 116,415 1,100
[ 1,338 1,338 0
Al 116,177 115,077 1,100
X &t4=2e 117,515 116,415 1,100
[ 1,338 1,338 0
Al 116,177 115,077 1,100
201 Y| 46,651 45,551 1,100
02 2229 35,071 33,971 1,100
O3 Al & ZHIS X H 16,540 15,440 1,100
DEXXStes NSZEEH SANES
275,0009 40 & 1,100 0 1,100
WEE=S(6t2=0) 13,816,479 13,297,336 519, 143
WEAHHX S (Gt AP ELS ) 13,816,479 13,297,336 519, 143
HWEAHHK S 13,816,479 13,297,336 519, 143
701 JIELEIHERES 13,816,479 13,297,336 519,143
01 JIEtSI HE =2 13,132,930 12,866,636 266,294
OxBIMNHEEFH BES 13,132,930 12,866,636 266,294
DEHIZANE2IHI (6l , 2L, 24EY, 4
AR2225tE S) AE 6,747,577,0002 6,747,577 6.357,807 389,770
>etFIZAIE &EXIHl(ot2=2H ,BTL, 0= ot
AT HX S) AE 4,342,520,000 4,342,520 4,465,996 A 123,476
03 BIYEHIHNEZHMEZ 683,549 430,700 252,849
Ouxc g3l M52 683,549 430,700 252,849




SN BaD
ol LRSS (o4+D)
SRl WRHHNE (S AL S ) c
SA-3H-S(3AH) - MRAS - BES Ol &F o4 I E M Hns2
POt A (M4E Kot)MSE 228 +
2 2H 652,849,0008 652,849 400,000 252,849




